# EXISTENCE OF SOLUTIONS FOR A BVP OF A SECOND ORDER FDE AT RESONANCE BY USING KRASNOSELSKII'S FIXED POINT THEOREM ON CONES IN THE $\mathcal{L}^{1}$ SPACE 

GEORGE L. KARAKOSTAS, KONSTANTINA G. PALASKA


#### Abstract

We provide sufficient conditions for the existence of positive solutions of a nonlocal boundary value problem at resonance concerning a second order functional differential equation. The method is developed by inserting an exponential factor which depends on a suitable positive parameter $\lambda$. By this way a Green's kernel can be established and the problem is transformed into an operator equation $u=T_{\lambda} u$. As it can be shown the well known Krasnoselskii's fixed point theorem on cones in the Banach space $C[0,1]$ cannot be applied. More exactly, there is no (positive) value of the parameter $\lambda$ for which the condensing property $\left\|T_{\lambda} u\right\| \leq\|u\|$, with $\|u\|=\rho(>0)$ is satisfied. To overcome this fact we enlarge the space $C[0,1]$ and work in $\mathcal{L}^{1}[0,1]$ where, now, Krasnoselskii's fixed point theorem is applicable. Compactness criteria in this space are, certainly, needed.


## 1. Introduction

Let $p$ be a function defined on the set $[0,1] \times \mathcal{L}^{1}[0,1]$ into the positive real numbers. In this paper we are dealing with the existence of positive solutions of a boundary-value problem concerning a second order functional differential equation of the form

$$
\begin{equation*}
(L u)(t):=u^{\prime \prime}(t)=-p(t, u) u(t), \quad \text { a.a. } t \in[0,1]=: I, \quad u(0)=0 \tag{1.1}
\end{equation*}
$$

under the boundary value condition

$$
\begin{equation*}
(T u):=u^{\prime}(1)-\int_{0}^{1} u^{\prime}(r) d g(r)=0 \tag{1.2}
\end{equation*}
$$

where $g$ is a nondecreasing function such that

$$
\begin{equation*}
\int_{0}^{1} d g(s)=1 \tag{1.3}
\end{equation*}
$$

Under this condition we observe that

$$
\operatorname{ker}(L) \subseteq \operatorname{ker}(T)
$$

[^0]Hence no Green's function can directly be computed. (The latter means that any (nontrivial) solution $u(t)=k t$ of the problem $u^{\prime \prime}=0, u(0)=0$ satisfies the boundary conditions.) Thus the problem is at resonance. In the literature such problems are approached in several ways. The more classical one is to decompose the space we work in the form of a direct sum of subspaces, one of which is $\operatorname{ker}(L)$ and then to work with the corresponding projections on these spaces. For this method, and for another search on boundary value problems at resonance, one can consult, for instance, [26, 32, 38, 40] and the references therein. In several works one can see the application of the so called coincidence degree theory of Mawhin 32, 33, 36, where the key tool is the following fact:

Let $A$ be the one-dimensional space of linear functions $y_{c}(t)=c t, t \in I$, with $c \in \mathbb{R}$ and let $J: A \rightarrow \mathbb{R}$ be the natural isomorphism $J\left(y_{c}\right)=c$. Then for each open and bounded subset $U$ of $A$ with $0 \in U$, it holds

$$
\operatorname{deg}(J, U, 0)=\operatorname{sign}_{J\left(y_{c}\right)=0} J^{\prime}\left(y_{c}\right)=\operatorname{sign} J^{\prime}(0) \neq 0
$$

Another interesting way of investigation of such problems, is by a regularization process based on variational methods, see, e.g, [3, 4, 16, 20, 24, 25, 37, 39].

Nonlocal boundary value problems for ordinary differential equations arise in several branches of applied mathematics and physics. The study of such problems with linear and nonlinear ordinary differential equations was, mainly, initiated in [7, 12, 13, 15, 18. The methods used therein is based on Leray - Schauder continuation theorem, nonlinear alternatives of Leray - Schauder, coincidence degree theory and some fixed point theorems, see, e.g., [1, 2, 6, 17] and references therein.

In this paper we suggest a new method relying on a transformation of the original equation by using an additive factor of the form $e^{\lambda t}$, for a suitable positive parameter $\lambda$. The idea was established in a boundary value problem discussed in [19], (where in Assumption (H1) one can get $p=\lambda-\lambda$ and $q=0$.) The resulting equation for some specific values of the parameter may permit us to obtain a Green's function and then apply the well known Krasnoselskii's fixed point theorem on cones, 31, which states as follows.

Theorem 1.1. Let $\mathcal{B}$ be a Banach space and let $\mathcal{K}$ be a cone in $\mathcal{B}$. Assume that $\Omega_{1}$ and $\Omega_{2}$ are open subsets of $\mathcal{B}$, with $0 \in \Omega_{1} \subset \bar{\Omega}_{1} \subset \Omega_{2}$, and let

$$
A: \mathcal{K} \cap\left(\bar{\Omega}_{2} \backslash \Omega_{1}\right) \rightarrow \mathcal{K}
$$

be a completely continuous operator such that either

$$
\|A u\| \leq\|u\|, \quad u \in \mathcal{K} \cap \partial \Omega_{1} \quad \text { and } \quad\|A u\| \geq\|u\|, \quad u \in \mathcal{K} \cap \partial \Omega_{2}
$$

or

$$
\|A u\| \geq\|u\|, \quad u \in \mathcal{K} \cap \partial \Omega_{1} \quad \text { and } \quad\|A u\| \leq\|u\|, \quad u \in \mathcal{K} \cap \partial \Omega_{2}
$$

Then $A$ has a fixed point in $\mathcal{K} \cap\left(\bar{\Omega}_{2} \backslash \Omega_{1}\right)$.
Here we shall apply Theorem 1.1 on the Banach space $\mathcal{L}^{1}(I)$ and to the best of our knowledge, it is the first paper where a space different than $C(I)$ is used. The actual reason to apply such an idea is written in the footnote of Theorem 3.7. Therefore here we have to spend more space of the paper on notions concerning some topological means (such as closedness and compactness) of $\mathcal{L}^{1}(I)$.

Recall that an operator $A: X \rightarrow Y$ is completely continuous if it is continuous and maps bounded sets into precompact sets. A set is precompact if its closure is compact.

Let us agree on the motation we shall use here.
Let $\mathbb{R}$ be the real line with norm $|\cdot|$ and $\mathbb{R}^{+}$the set of nonnegative reals. In this work we shall work in two Banach spaces:

The space $C(I)$ of all continuous functions $x: I \rightarrow \mathbb{R}$ with norm $\|\cdot\|_{\text {sup }}$, and its superspace $\mathcal{L}^{1}(I)$ with norm $\|\cdot\|_{\mathcal{L}^{1}}$. It is known that it holds

$$
\|u\|_{\mathcal{L}^{1}} \leq\|u\|_{\text {sup }}
$$

for any $u \in C(I)$. We shall denote by $C_{+}(I)$ the set of nonnegative functions $u \in C(I)$ and by $\mathcal{L}^{1}+(I)$ the set of all $u \in \mathcal{L}^{1}(I)$ with $u(t) \geq 0$, a.e. in $I$.

Our first essential step is to reformulate the boundary value problem into a fixed point problem of an operator acting on the space $\mathcal{L}^{1}(I)$, thus the fixed point $u$ of the operator will be a function in this space. However, as it is shown, any fixed point $u$ of this operator is a solution of the boundary value problem, thus $u$ must solve the original differential equation (1.1), namely it is a differentiable function. At least $u$ is an element of the space $C(I)$.

Since we use compactness in the $\mathcal{L}^{1}$-sense, we need to recall the classical well known Kolmogorov - Riesz - Fréchet Compactness Theorem, (see, e.g. the book by Brezis [8, p. 111], or a recent article [14, Theorem 5 and Cor. 8]) which reads as follows: (Notice that a set in a semimetric space is compact if it closed and totally bounded.)

Theorem 1.2 (Kolmogorov - Riesz - Fréchet). Let $1 \leq p<+\infty$. A subset $\mathcal{F}$ of $\mathcal{L}^{p}\left(\mathbb{R}^{n}\right)$ is totally bounded if and only if
(i) $\mathcal{F}$ is bounded,
(ii) for every $\epsilon>0$ there is some $R$ such that for every $f \in \mathcal{F}$ it holds

$$
\int_{|x|>R}|f(x)|^{p} d x<\epsilon^{p}
$$

(iii) the family $\mathcal{F}$ is equicontinuous in mean, in the sense that for every $\epsilon>0$ there is some $\rho>0$ so that, for every $f \in \mathcal{F}$ and $y \in \mathbb{R}^{n}$, with $|y|<\rho$ it holds

$$
\|f(\cdot+y)-f(\cdot)\|_{p}=\left[\int_{\mathbb{R}^{n}}|f(x+y)-f(x)|^{p} d x\right]^{1 / p}<\epsilon
$$

We shall apply this theorem adjusted to $\mathcal{L}^{1}(I)$, where, clearly, condition (ii) is satisfied. (Extend any $u \in \mathcal{L}^{1}(I)$ to $\mathcal{L}^{1}(\mathbb{R})$, by setting $u(s)=0$ for $s \in \mathbb{R} \backslash I$ ).

Problem (1.1)-(1.2) is a nonlocal boundary value problem which includes as special cases multipoint boundary value problems considered by several authors during the previous decade. More details about this problem can be found e.g. in the papers [26, 27, 28, 29, 30] and into their references. Moreover due to the functional dependence of $p$ on $u$, the equation can have an integro-differential form, or generally, a functional-differential form. In the literature one can see a lot of works concerning boundary value problems with delay or functional dependence, of first, second or third order, see, e.g., [9, 10, 23, 21, 22, 41, and the references therein.

The paper is organized as follows: In Section 2 we present the conditions satisfied by the functions $g$ and $p$. Then we reformulate the boundary value problem and built an integral operator equation equivalent to the problem. The main result is given in the end of Section 3, but first we give several auxiliary lemmas concerning
properties of the kernel and refer to some (known) topological properties of the space $\mathcal{L}^{1}(I)$. The paper closes with a simple application of the existence result.

## 2. Conditions and reformulation of the BVP problem

Before we present our conditions, we make the following convention: Assume that $X, Y$ are two normed spaces with norms $\|\cdot\|_{X},\|\cdot\|_{Y}$ respectively. Then, the phrase $J$ is $\left[\|\cdot\|_{X}-\|\cdot\|_{Y}\right]$-continuous will be used to emphasize the continuity of a function $J: X \rightarrow Y$. To proceed we need to present our basic conditions:

Hypothesis 2.1. The function $g$ satisfies (1.3), as well as the following: There are $\tau_{1}, \tau_{2}, \tau_{3} \in(0,1)$ with $\tau_{1}<\tau_{2}<\tau_{3}$ and $\tau_{2}+\tau_{3}<1$, such that

$$
0=g\left(\tau_{1}\right)<g\left(\tau_{2}\right)<g\left(\tau_{3}\right) \leq g(1)=1
$$

Example 2.2. The function $g$ defined by

$$
g(s):=\frac{1}{5} \chi_{\left[\frac{1}{5}, \frac{2}{5}\right)}(s)+\frac{2}{5} \chi_{\left[\frac{2}{5}, \frac{3}{5}\right)}(s)+\chi_{\left[\frac{3}{5}, 1\right]}(s),
$$

satisfies Hypothesis 2.1. with $\tau_{1}=\frac{1}{10}, \tau_{2}:=\frac{1}{5}$ and $\tau_{3}:=\frac{1}{2}$.
Note that Hypothesis 2.1 implies the following useful inequality:

$$
\begin{align*}
1-\int_{0}^{1} r^{2} d g(r) & =\int_{0}^{1}\left(1-r^{2}\right) d g(r) \geq \int_{\tau_{2}}^{\tau_{3}}\left(1-r^{2}\right) d g(r)  \tag{2.1}\\
& \geq\left(1-\tau_{3}^{2}\right)\left(g\left(\tau_{3}\right)-g\left(\tau_{2}\right)\right)>0
\end{align*}
$$

As we said in the beginning, the function $p$ maps the set $I \times \mathcal{L}^{1}(I)$ into the positive real numbers. Assume that $p(t, 0)=0$, for all $t \in I$ and moreover it satisfies the following conditions:

Hypothesis 2.3. $p(\cdot, u)$ is continuous in $t \in I$ for all $u$ and $p(t, \cdot)$ is $\left[\|\cdot\|_{\mathcal{L}^{1}} \|-|\cdot|\right]$ continuous uniformly for all $t$.

Hypothesis 2.4. The mapping $u \rightarrow p(t, u): \mathcal{L}^{1}(I) \rightarrow[0,+\infty)$ sends bounded sets into bounded sets, uniformly for $t \in I$.

Hypothesis 2.5. There exists an interval $(\alpha, \beta) \subseteq\left[\tau_{2}, \tau_{3}\right]$ with the following properties: Given any $R>0$ there is some $N>0$ such that for any $u \in \mathcal{L}^{1}+(I)$ with $u(s) \geq N$, for a.a. $s \in\left[\tau_{2}, \tau_{3}\right]$, it holds $p(t, u) \geq R$, for all $t \in[\alpha, \beta]$.

Because of Hypothesis 2.5, the dependence of $p$ on the argument $u$ cannot be point-wise. Our requirement is that $p$ depends on the values of $u$ at least on an open subinterval of $\left[\tau_{2}, \tau_{3}\right]$. Thus its dependence would be, for example, through an integral. Here is such an example (which will be used in an application given at the end of this paper):

Example 2.6. Consider the function

$$
p(t, u):=(1+t) \int_{0}^{t} a(t, s) u(s) d s
$$

where $a(t, s)$ is continuous in $t, s \in I$. If there is a constant $k_{1}$ such that $0<k_{1} \leq$ $a(t, s)$, then $p$ satisfies the Conditions $2.3,2.4,2.5$.

Proof. Hypothesis 2.3 is obvious. Hypothesis 2.4 follows from the fact that

$$
p(t, u) \leq 2 k_{2}\|u\|_{\mathcal{L}^{1}(I)}
$$

where $k_{2}:=\max _{t, s \in I} a(t, s)$. Now choose an open interval $(\alpha, \beta) \subseteq\left[\tau_{2}, \tau_{3}\right]$ by taking, for instance, the constants

$$
\begin{equation*}
\alpha:=\frac{2}{3} \tau_{2}+\frac{1}{3} \tau_{3} \quad \text { and } \quad \beta:=\frac{1}{3} \tau_{2}+\frac{2}{3} \tau_{3} . \tag{2.2}
\end{equation*}
$$

Then Hypothesis 2.5 is implied by the inequality

$$
p(t, u) \geq(1+t) k_{1} \int_{\tau_{2}}^{\alpha} u(s) d s \geq k_{1} N\left(\alpha-\tau_{2}\right)=\frac{1}{3} k_{1} N\left(\tau_{3}-\tau_{2}\right) \geq R
$$

The last inequality holds if we choose $N \geq 3 R / k_{1}\left(\tau_{3}-\tau_{2}\right)$.
Next we proceed to the formulation of the problem. We shall elaborate a little on the equation and the boundary conditions, in order to built an integral form of the problem.

Fix a positive parameter $\lambda$, which will be defined later in Section 3, and consider the auxiliary equation

$$
u^{\prime \prime}(t)+\lambda u^{\prime}(t)=\lambda u^{\prime}(t)-p(t, u) u(t), \quad \text { a.a. } t \in[0,1]
$$

associated with the initial value $u(0)=0$ and the boundary value condition 1.3 . Multiple both sides with $e^{\lambda t}$ and integrate to obtain

$$
u^{\prime}(t)-\lambda u(t)=e^{-\lambda t} u^{\prime}(0)-e^{-\lambda t} \int_{0}^{t} e^{\lambda s} F(s, u) d s
$$

where $F$ is the function

$$
\begin{equation*}
F(s, u):=\lambda^{2} u(s)+p(s, u) u(s) \tag{2.3}
\end{equation*}
$$

(According to Hypothesis 2.3 the function $F$ is integrable.) Again, multiplying both sides with $e^{-\lambda t}$ and integrating we get

$$
u(t)=\frac{u^{\prime}(0)}{\lambda} \sinh (\lambda t)-\int_{0}^{t} e^{\lambda(t-2 r)} \int_{0}^{r} e^{\lambda s} F(s, u) d s d r
$$

From this it follows that

$$
u^{\prime}(t)=u^{\prime}(0) \cosh (\lambda t)-\lambda \int_{0}^{t} e^{\lambda(t-2 r)} \int_{0}^{r} e^{\lambda s} F(s, u) d s d r-e^{-\lambda t} \int_{0}^{t} e^{\lambda s} F(s, u) d s
$$

To eliminate the factor $u^{\prime}(0)$ we use $(1.2)$. Thus we must have

$$
\begin{align*}
& u^{\prime}(0) \cosh (\lambda)-\lambda \int_{0}^{1} e^{\lambda(1-2 r)} \int_{0}^{r} e^{\lambda s} F(s, u) d s d r-e^{-\lambda} \int_{0}^{1} e^{\lambda s} F(s, u) d s \\
& =u^{\prime}(0) \int_{0}^{1} \cosh (\lambda t) d g(t)-\lambda \int_{0}^{1} \int_{0}^{t} e^{\lambda(t-2 r)} \int_{0}^{r} e^{\lambda s} F(s, u) d s d r d g(t)  \tag{2.4}\\
& \quad-\int_{0}^{1} e^{-\lambda t} \int_{0}^{t} e^{\lambda s} F(s, u) d s d g(t)
\end{align*}
$$

Next, we apply Fubini's theorem and get the following:

$$
\lambda \int_{0}^{1} e^{\lambda(1-2 r)} \int_{0}^{r} e^{\lambda s} F(s, u) d s d r=\int_{0}^{1} \sinh (\lambda(1-s)) F(s, u) d s
$$

$$
\begin{gathered}
\lambda \int_{0}^{1} \int_{0}^{t} e^{\lambda(t-2 r)} \int_{0}^{r} e^{\lambda s} F(s, u) d s d r d g(t) \\
=\int_{0}^{1} \int_{0}^{t} \sinh (\lambda(t-s)) F(s, u) d s d g(t) \\
=\int_{0}^{1} \int_{s}^{1} \sinh (\lambda(r-s)) d g(r) F(s, u) d s \\
\int_{0}^{1} e^{-\lambda r} \int_{0}^{r} e^{\lambda s} F(s, u) d s d g(r)=\int_{0}^{1}\left(\int_{s}^{1} e^{-\lambda(r-s)} d g(r)\right) F(s, u) d s
\end{gathered}
$$

Hence (2.4) gives

$$
u^{\prime}(0)=\frac{1}{h_{\lambda}(0)} \int_{0}^{1} h_{\lambda}(s) F(s, u) d s
$$

where the function $h$ is defined by

$$
h_{\lambda}(s):=\cosh (\lambda(1-s))-\int_{s}^{1} \cosh (\lambda(r-s)) d g(r), \quad s \in I
$$

Therefore the solution $u$ satisfies the integral equation

$$
u(t)=\frac{1}{\lambda h_{\lambda}(0)} \sinh (\lambda t) \int_{0}^{1} h_{\lambda}(s) F(s, u) d s-\int_{0}^{t} \int_{0}^{r} e^{\lambda(t+s-2 r)} F(s, u) d s d r
$$

which can be written as

$$
\begin{equation*}
u(t)=\int_{0}^{1} G_{\lambda}(t, s) F(s, u) d s \tag{2.5}
\end{equation*}
$$

where the (one parameter) Green's function $G_{\lambda}$ is defined by

$$
G_{\lambda}(t, s):=\frac{\sinh (\lambda t)}{\lambda h_{\lambda}(0)} h_{\lambda}(s)-\frac{1}{\lambda} \sinh (\lambda(t-s)) \chi_{[0, t]}(s)
$$

Function $h_{\lambda}$ plays an important role in all the sequel. Here we must notice that, due to Hypothesis 2.1 it holds $d g(s)=0$ for all $s$ near zero. Hence, in such a neighborhood, $h_{\lambda}$ can be differentiated:

$$
\begin{equation*}
h_{\lambda}^{\prime}(s)=-\lambda \sinh (\lambda(1-s))+\lambda \int_{s}^{1} \sinh (\lambda(r-s)) d g(r), \quad s \in\left(0, \tau_{1}\right) \tag{2.6}
\end{equation*}
$$

Claim: Function $h_{\lambda}$ is positive and it stays away form zero.
To prove it observe that for all $s \in[0,1]$ it holds

$$
\begin{aligned}
h_{\lambda}(s) & =\cosh (\lambda(1-s))-\int_{s}^{1} \cosh (\lambda(r-s)) d g(r) \\
& =\cosh (\lambda(1-s)) g(s)+\int_{s}^{1}[\cosh (\lambda(1-s))-\cosh (\lambda(r-s))] d g(r)
\end{aligned}
$$

Let $s \leq \tau_{2}$. Then we have

$$
\begin{align*}
h_{\lambda}(s) & \geq \int_{s}^{1}[\cosh (\lambda(1-s))-\cosh (\lambda(r-s))] d g(r) \\
& \geq \int_{\tau_{2}}^{\tau_{3}}[\cosh (\lambda(1-s))-\cosh (\lambda(r-s))] d g(r)  \tag{2.7}\\
& \geq\left[\cosh \left(\lambda\left(1-\tau_{2}\right)\right)-\cosh \left(\lambda \tau_{3}\right)\right]\left(g\left(\tau_{3}\right)-g\left(\tau_{2}\right)\right)
\end{align*}
$$

Also, for $s \geq \tau_{2}$ we have

$$
h_{\lambda}(s) \geq \cosh (\lambda(1-s)) g(s) \geq g\left(\tau_{2}\right)
$$

Hence for all $s \in[0,1]$ we have

$$
b \leq h_{\lambda}(s) \leq \cosh (\lambda)
$$

where $b$ is the real number given by

$$
\begin{equation*}
b:=\min \left\{g\left(\tau_{2}\right),\left[\cosh \left(\left(\lambda\left(1-\tau_{2}\right)\right)-\cosh \left(\lambda \tau_{3}\right)\right]\left[g\left(\tau_{3}\right)-g\left(\tau_{2}\right)\right]\right\}\right. \tag{2.8}
\end{equation*}
$$

which is positive, and the Claim is proved.
Now we need to give some properties of $G_{\lambda}$. Clearly, for $s>t$ it becomes

$$
G_{\lambda}(t, s)=\frac{\sinh (\lambda t)}{\lambda h_{\lambda}(0)} h_{\lambda}(s)
$$

and for $s \leq t$,

$$
\begin{equation*}
G_{\lambda}(t, s)=\frac{1}{\lambda h_{\lambda}(0)}\left[\sinh (\lambda t) h_{\lambda}(s)-h_{\lambda}(0) \sinh (\lambda(t-s))\right] \tag{2.9}
\end{equation*}
$$

We rewrite the quantity in the brackets as

$$
\begin{aligned}
& \sinh (\lambda t)\left[\cosh (\lambda(1-s))-\int_{s}^{1} \cosh (\lambda(r-s)) d g(r)\right] \\
& - \\
& =\left[\cosh (\lambda)-\int_{0}^{1} \cosh (\lambda r) d g(r)\right] \sinh (\lambda(t-s)) \\
& \quad+\int_{s}^{1}[\sinh (\lambda(t-s)) \cosh (\lambda(1-s))-\cosh (\lambda) \sinh (\lambda(t-s))-\sinh (\lambda t) \cosh (\lambda(r-s))] d g(r) \\
& \quad+\sinh (\lambda(t-s)) \int_{0}^{s} \cosh (\lambda r) d g(r) \\
& =\frac{1}{4}\left[\left(e^{\lambda t}-e^{-\lambda t}\right)\left(e^{\lambda(1-s)}+e^{-\lambda(1-s)}\right)-\left(e^{\lambda}+e^{-\lambda}\right)\left(e^{\lambda(t-s)}-e^{-\lambda(t-s)}\right)\right] \\
& \quad+\frac{1}{4} \int_{s}^{1}\left[\left[\left(e^{\lambda(t-s)}-e^{-\lambda(t-s)}\right)\left(e^{\lambda r}+e^{-\lambda r}\right)\right.\right. \\
& \left.\quad-\left(e^{\lambda t}-e^{-\lambda t}\right)\left(e^{\lambda(r-s)}+e^{-\lambda(r-s)}\right)\right] d g(r)+\sinh (\lambda(t-s)) \int_{0}^{s} \cosh (\lambda r) d g(r)
\end{aligned}
$$

which is equal to

$$
\begin{aligned}
& \sinh (\lambda s) \cosh (\lambda(1-t)) g(s)+\int_{0}^{s} \sinh (\lambda(t-s)) \cosh (\lambda r) d g(r) \\
& +\int_{s}^{1} \sinh (\lambda s)[\cosh ((\lambda(1-t))-\cosh (\lambda(r-t))] d g(r)
\end{aligned}
$$

Therefore the Green's function, for $s \leq t$, becomes

$$
\begin{align*}
& G_{\lambda}(t, s) \\
& =\frac{1}{\lambda h_{\lambda}(0)}\left[\sinh (\lambda s) \cosh (\lambda(1-t)) g(s)+\int_{0}^{s} \sinh (\lambda(t-s)) \cosh (\lambda r) d g(r)\right.  \tag{2.10}\\
& \quad+\int_{s}^{1} \sinh (\lambda s)[\cosh ((\lambda(1-t))-\cosh (\lambda(r-t))] d g(r)]
\end{align*}
$$

The previous presentation idicates that the Green's function is strictly positive for all $t, s \in(0,1]$.
Lemma 2.7. Let $T_{\lambda}$ be the operator defined on the space $\mathcal{L}_{1}(I)$ by

$$
\begin{equation*}
\left(T_{\lambda} u\right)(t)=\int_{0}^{1} G_{\lambda}(t, s) F(s, u) d s \tag{2.11}
\end{equation*}
$$

Then a function $u \in \mathcal{L}_{+}^{1}(I)$ solves problem (1.1)-1.3 if and only if it is (a differentiable function which is) a fixed point of the operator equation $u=T_{\lambda} u$.

Proof. The "if" part was proved in the lines above. To show the "only if" part, write $u=T_{\lambda} u$ in the form 2.5). Then observe first that $\left(T_{\lambda} u\right)(0)=0$ and $u$ is differentiable, satisfying

$$
u^{\prime}(t)=\frac{\cosh (\lambda t)}{h_{\lambda}(0)} \int_{0}^{1} h_{\lambda}(s) F(s, u) d s-\int_{0}^{t} \cosh (\lambda(t-s)) F(s, u) d s
$$

This formula implies that $u$ is a $C^{2}$ function. For $t=0$, we have

$$
\begin{equation*}
u^{\prime}(0)=\frac{1}{h_{\lambda}(0)} \int_{0}^{1} h_{\lambda}(s) F(s, u) d s \tag{2.12}
\end{equation*}
$$

and so $u$ satisfies

$$
u^{\prime}(t)=\cosh (\lambda t) u^{\prime}(0)-\int_{0}^{t} \cosh (\lambda(t-s)) F(s, u) d s
$$

This gives

$$
u^{\prime}(t)-\lambda u(t)=e^{-\lambda t} u^{\prime}(0)-\int_{0}^{t} e^{-\lambda(t-s)} F(s, u) d s
$$

and so

$$
e^{\lambda t}\left[u^{\prime}(t)-\lambda u(t)\right]=u^{\prime}(0)-\int_{0}^{t} e^{\lambda s}\left(\lambda^{2} u(s)+p(s, u) u(s)\right) d s
$$

By differentiation we see that $u$ solves equation 1.1 .
To show that condition in 1.2 is satisfied, we must prove that it holds

$$
\begin{aligned}
& \cosh (\lambda) u^{\prime}(0)-\int_{0}^{1} \cosh (\lambda(1-s)) F(s, u) d s \\
& =u^{\prime}(0) \int_{0}^{1} \cosh (\lambda r) d g(r)-\int_{0}^{1} \int_{0}^{r} \cosh (\lambda(r-s)) F(s, u) d s d g(r)
\end{aligned}
$$

This relation is equivalent to

$$
\begin{aligned}
u^{\prime}(0) h_{\lambda}(0) & =u^{\prime}(0)\left[\cosh (\lambda)-\int_{0}^{1} \cosh (\lambda r) d g(r)\right] \\
& =\int_{0}^{1} \cosh (\lambda(1-s)) F(s, u) d s-\int_{0}^{1} \int_{0}^{r} \cosh (\lambda(r-s)) F(s, u) d s d g(r) \\
& =\int_{0}^{1} \cosh (\lambda(1-s)) F(s, u) d s-\int_{0}^{1} \int_{s}^{1} \cosh (\lambda(r-s)) d g(r) F(s, u) d s \\
& =\int_{0}^{1}\left[\cosh (\lambda(1-s))-\int_{s}^{1} \cosh (\lambda(r-s)) d g(r)\right] F(s, u) d s
\end{aligned}
$$

namely 2.12 . Thus 1.2 is true.

## 3. Main Results

From now on we shall assume that the parameter $\lambda$ satisfies the following condition:

Hypothesis 3.1. There exist positive real numbers $\lambda, \sigma, \delta$ such that

$$
\begin{gather*}
\lambda^{2} \sup _{s \in I} \int_{0}^{1} G_{\lambda}(t, s) d t \leq \sigma<1  \tag{3.1}\\
\inf _{t \in[\alpha, \beta]} P_{\lambda}(t) \geq \delta>0 \tag{3.2}
\end{gather*}
$$

where the function $P_{\lambda}$ is defined by

$$
\begin{equation*}
P_{\lambda}(t):=\cosh (\lambda(1-t))-\int_{0}^{1} \cosh (\lambda(r-t)) d g(r) \tag{3.3}
\end{equation*}
$$

For instance the function $g$ defined in Example 2.2 satisfies Hypothesis 3.1 for all $\lambda \in(0,0.85]$ and $\alpha, \beta$ defined, for example, as in 2.2) (This fact can be justified by applying a standard numerical process). With $\lambda=0.85$, the constant $\delta$ can take any value in the interval $(0,0.78]$. From now on we shall use such a $\lambda$.

Lemma 3.2. For each $t>0$ it holds

$$
\begin{equation*}
\lim _{s \rightarrow 0} \frac{G_{\lambda}(t, s)}{G_{\lambda}(s, s)}=\frac{P_{\lambda}(t)}{h_{\lambda}(0)} \tag{3.4}
\end{equation*}
$$

Proof. Fix any $t \in I$. Since $G_{\lambda}(t, 0)=0=G_{\lambda}(0,0)$ we shall apply L' Hospital's rule to find the desired limit To this end we need to know the limit of $\frac{d}{d s} G_{\lambda}(t, s)$ as $s \rightarrow 0$. First we observe that for all $s \in\left(0, \tau_{1}\right]$ it holds

$$
\begin{aligned}
& \frac{1}{s}\left[\int_{s}^{1} \cosh \left(\lambda(r-s) d g r-\int_{0}^{1} \cosh (\lambda r) d g(r)\right]\right. \\
& =\frac{1}{s}\left[\int_{0}^{1}\left[\cosh \left(\lambda(r-s) d g r-\int_{0}^{1} \cosh (\lambda r)\right] d g(r)\right]\right. \\
& \rightarrow-\lambda \int_{0}^{1} \sinh (\lambda r) d g(r)
\end{aligned}
$$

as $s \rightarrow 0$. Hence we have

$$
\begin{aligned}
\frac{d}{d s} G_{\lambda}(t, 0)= & \frac{1}{h_{\lambda}(0)}\left(\left[\sinh (\lambda t)\left(-\sinh (\lambda)+\int_{0}^{1} \sinh (\lambda r) d g(r)\right)\right]\right. \\
& \left.+\left[\cosh (\lambda)-\int_{0}^{1} \cosh (\lambda r) d g(r)\right] \cosh (\lambda t)\right) \\
= & \frac{P_{\lambda}(t)}{h_{\lambda}(0)}
\end{aligned}
$$

where $P_{\lambda}$ is defined in relation 3.3. On the other hand it holds

$$
\begin{aligned}
\left.\frac{d}{d s} G(s, s)\right|_{s=0}= & \frac{\cosh (\lambda s)}{h_{\lambda}(0)}+\frac{\sinh (\lambda s)}{h_{\lambda}(0) \lambda}[-\lambda \sinh (\lambda(1-s)) \\
& \left.+\lambda \int_{s}^{1} \sinh (\lambda(r-s)) d g(r)\right]\left.\right|_{s=0}=1
\end{aligned}
$$

(Here we took into account relation (2.6).) These two relations imply the result.

Lemma 3.3. There exists a positive constant $\mu$, such that

$$
\begin{equation*}
\mu G_{\lambda}(s, s) \leq G_{\lambda}(t, s), \quad s \in[0,1], \quad \alpha \leq t \leq \beta \tag{3.5}
\end{equation*}
$$

Proof. From Lemma 3.2 and the inequality

$$
0<\frac{\delta}{2 \cosh (\lambda)}<\frac{\delta}{2 h_{\lambda}(0)} \leq \frac{P_{\lambda}(t)}{h_{\lambda}(0)}
$$

we conclude that there is $s_{1} \in\left(0, \tau_{1}\right]$ such that

$$
\frac{\delta}{2 \cosh (\lambda)}=: \mu_{0} \leq \frac{G_{\lambda}(t, s)}{G_{\lambda}(s, s)}, \quad s \in\left[0, s_{1}\right], \quad t \in[\alpha, \beta]
$$

Now, fix any $t \in[\alpha, \beta]$ and take into account (3.2). Let $s \geq s_{1}$. If $s \geq t$, it holds

$$
\frac{G_{\lambda}(t, s)}{G_{\lambda}(s, s)}=\frac{\sinh (\lambda t)}{\sinh (\lambda s)} \geq \frac{\sinh (\lambda \alpha)}{\sinh (\lambda)}
$$

Let $s_{1} \leq s \leq t$. If $s \leq \tau_{2}$, then from 2.10 we see that

$$
\begin{aligned}
& G_{\lambda}(t, s) \\
& \geq \frac{1}{\lambda h_{\lambda}(0)}\left[\int_{s}^{1} \sinh (\lambda s)[\cosh (\lambda(1-t))-\cosh (\lambda(r-t))] d g(r)\right] \\
& \geq \frac{1}{\lambda h_{\lambda}(0)}\left[\int_{\tau_{2}}^{\tau_{3}} \sinh \left(\lambda s_{1}\right)[\cosh (\lambda(1-t))-\cosh (\lambda(r-t))] d g(r)\right] \\
& \geq \frac{1}{\lambda h_{\lambda}(0)}\left[\sinh \left(\lambda s_{1}\right)\left[\cosh \left(\lambda\left(1-\tau_{2}\right)\right)-\cosh \left(\lambda\left(\tau_{3}-\tau_{2}\right)\right)\right]\right]\left(g\left(\tau_{3}\right)-g\left(\tau_{2}\right)\right)
\end{aligned}
$$

The quantity in the brackets is strictly positive.
If $\tau_{2} \leq s \leq t$, again, from 2.10 we get

$$
G_{\lambda}(t, s) \geq \frac{1}{\lambda h_{\lambda}(0)} \sinh (\lambda s) \cosh (\lambda(1-t)) g(s) \geq \frac{1}{\lambda \cosh (\lambda)} \sinh \left(\lambda \tau_{2}\right) g\left(\tau_{2}\right)
$$

Finally, if $t \leq s$ then

$$
G_{\lambda}(t, s)=\frac{\sinh (\lambda t)}{\lambda h_{\lambda}(0)} h_{\lambda}(s) \geq \frac{\sinh (\lambda \alpha)}{\lambda \cosh (\lambda)} b
$$

From the previous arguments and the fact that, for all $s \in I$, it holds

$$
G_{\lambda}(s, s)=\frac{1}{\lambda h_{\lambda}(0)} \sinh (\lambda s) h_{\lambda}(s) \leq \frac{\sinh (\lambda)}{\lambda h_{\lambda}(0)} \cosh (\lambda) \leq \frac{\sinh (2 \lambda)}{2 \lambda b}
$$

we, finally, conclude that

$$
\min _{t \in[\alpha, \beta], s \in I} \frac{G_{\lambda}(t, s)}{G_{\lambda}(s, s)}=\mu
$$

exists and it is a positive real number. The proof is complete.
Lemma 3.4. There exists a positive constant $M$, such that

$$
G_{\lambda}(t, s) \leq M G_{\lambda}(s, s), \quad s, t \in[0,1]
$$

Proof. From relation (3.4) and the fact that

$$
\frac{P_{\lambda}(t)}{h_{\lambda}(0)} \leq \frac{\cosh (\lambda)}{b}
$$

it follows that there is a certain $s_{2} \in(0,1)$, such that

$$
\frac{G_{\lambda}(t, s)}{G_{\lambda}(s, s)} \leq \frac{2 \cosh (\lambda)}{b}, \quad s \in\left[0, s_{2}\right], \quad t \in I
$$

Also, for all $s \in\left[s_{2}, t\right]$ we have

$$
\frac{G_{\lambda}(t, s)}{G_{\lambda}(s, s)} \leq \frac{\sinh (\lambda t)}{\sinh (\lambda s)} \leq \frac{\sinh (\lambda)}{\sinh \left(\lambda s_{2}\right)}
$$

and for $s \geq t$,

$$
\frac{G_{\lambda}(t, s)}{G_{\lambda}(s, s)}=\frac{\sinh (\lambda t)}{\sinh (\lambda s)} \leq \frac{\sinh (\lambda t)}{\sinh (\lambda t)}=1
$$

Now set

$$
M:=\max \left\{\frac{2 \cosh (\lambda)}{b}, \frac{\sinh (\lambda)}{\sinh \left(\lambda s_{2}\right)}, 1\right\}=\max \left\{\frac{2 \cosh (\lambda)}{b}, \frac{\sinh (\lambda)}{\sinh \left(\lambda s_{2}\right)}\right\}
$$

and the proof is complete.
Lemma 3.5. The operator $T_{\lambda}$, defined in 2.11, is completely continuous, i.e., it is $\left[\|\cdot\|_{\mathcal{L}^{1}}-\|\cdot\|_{\mathcal{L}^{1}}\right]$-continuous and it maps bounded subsets of $\mathcal{L}^{1}(I)$ into totally bounded sets of $\mathcal{L}^{1}(I)$.
Proof. To prove the continuity of $T_{\lambda}$ consider a sequence $\left(u_{n}\right)$ and a function $v \in \mathcal{L}^{1}$, such that $\|\cdot\|_{\mathcal{L}^{1}}-\lim u_{n}=v$. We observe that

$$
\begin{aligned}
& \left\|T u_{n}-T v\right\|_{\mathcal{L}^{1}} \\
& =\left|\int_{0}^{1} \int_{0}^{1} G_{\lambda}(t, s) F\left(s, u_{n}\right) d s d t-\int_{0}^{1} \int_{0}^{1} G_{\lambda}(t, s) F(s, v) d s d t\right| \\
& =\left|\int_{0}^{1} \int_{0}^{1} G_{\lambda}(t, s)\left[F\left(s, u_{n}\right)-F(s, v)\right] d s d t\right| \\
& =\left|\int_{0}^{1}\left(\int_{0}^{1} G_{\lambda}(t, s) d t\right)\left[F\left(s, u_{n}\right)-F(s, v)\right] d s\right| \\
& \leq \int_{0}^{1}\left(\int_{0}^{1} G_{\lambda}(t, s) d t\right)\left|F\left(s, u_{n}\right)-F(s, v)\right| d s \\
& \leq \sup _{s \in I}\left(\int_{0}^{1} G_{\lambda}(t, s) d t\right) \int_{0}^{1}\left|F\left(s, u_{n}\right)-F(s, v)\right| d s \\
& \leq \frac{\sigma}{\lambda^{2}}\left(\lambda^{2}\left\|u_{n}-v\right\|_{\mathcal{L}^{1}}+\sup _{s \in I}\left|p\left(s, u_{n}\right)-p(s, v)\right|\left\|u_{n}\right\|_{\mathcal{L}^{1}}+\sup _{s \in I} p(s, v)\left\|u_{n}-v\right\|_{\mathcal{L}^{1}}\right) .
\end{aligned}
$$

This quantity converges to 0 .
To prove the totally boundedness step, we shall apply Theorem 1.2 So let $\mathcal{F}$ be a bounded subset of $\mathcal{L}^{1}(I)$. This guarantees the existence of some $\kappa>0$ such that $\|u\|_{\mathcal{L}^{1}} \leq \kappa$, for all $u \in \mathcal{F}$. According to Hypothesis 2.4 to this constant there corresponds a certain $N_{\kappa}>0$ such that

$$
\begin{equation*}
|p(s, u)| \leq N_{\kappa}, \quad s \in I, u \in \mathcal{F} \tag{3.6}
\end{equation*}
$$

Then we have

$$
\begin{aligned}
\left\|T_{\lambda} u\right\|_{\mathcal{L}^{1}} & =\int_{0}^{1}\left|\int_{0}^{1} G_{\lambda}(t, s) F(s, u) d s\right| d t \\
& \leq \int_{0}^{1}\left(\int_{0}^{1} G_{\lambda}(t, s) d t\right)|F(s, u)| d s
\end{aligned}
$$

$$
\begin{aligned}
& \leq \sup _{s \in I}\left(\int_{0}^{1} G_{\lambda}(t, s) d t\right) \int_{0}^{1}|F(s, u)| d s \\
& \leq \sup _{s \in I}\left(\int_{0}^{1} G_{\lambda}(t, s) d t\right) \int_{0}^{1}\left(\lambda^{2}+p(s, u)\right)|u(s)| d s \\
& \leq \frac{\sigma}{\lambda^{2}}\left(\lambda^{2}+N_{\kappa}\right) \kappa
\end{aligned}
$$

which means that the image $T_{\lambda}(\mathcal{F})$ of $\mathcal{F}$ is bounded.
Next take any $u \in \mathcal{F}, t \in[0,1)$ and $\eta>0$ such that $t+\eta \in I$. Then we have

$$
\begin{aligned}
& \left\|\left(T_{\lambda} u\right)(\cdot+\eta)-\left(T_{\lambda} u\right)(\cdot)\right\|_{\mathcal{L}^{1}} \\
& =\int_{0}^{1}\left|\left(T_{\lambda} u\right)(t+\eta)-\left(T_{\lambda} u\right)(t)\right| d t \\
& \leq \int_{0}^{1}\left|\int_{0}^{1}\left[G_{\lambda}(t+\eta, s)-G_{\lambda}(t, s)\right]\right||F(s, u)| d s d t
\end{aligned}
$$

Write the second integral in the form

$$
\int_{0}^{t}+\int_{t}^{t+\eta}+\int_{t+\eta}^{1}
$$

and one can easily see that it is smaller than or equal to the quantity

$$
\left[\cosh (\lambda)\left(\frac{\cosh (\lambda)}{b}+1\right)+\frac{1}{\lambda} \sinh (\lambda)\right] \eta
$$

Therefore, taking into account relation (3.6), we get

$$
\begin{aligned}
& \left\|\left(T_{\lambda} u\right)(\cdot+\eta)-\left(T_{\lambda} u\right)(\cdot)\right\|_{\mathcal{L}^{1}} \\
& \leq\left[\cosh (\lambda)\left(\frac{\cosh (\lambda)}{b}+1\right)+\frac{1}{\lambda} \sinh (\lambda)\right]\left(\lambda^{2}+N_{\kappa}\right) \kappa \eta
\end{aligned}
$$

The same holds for any $t \in(0,1]$ and $\eta<0$ with $t+\eta \in I$. Therefore the family $T_{\lambda} \mathcal{F}$ is equicontinuous in mean. This completes the proof of the lemma.

Before giving the main existence theorem, we need to define the set

$$
\mathcal{K}:=\left\{u \in \mathcal{L}^{1}+(I): u(t) \geq \frac{\mu}{M}\|u\|_{\mathcal{L}^{1}}, \text { a.a. } t \in[\alpha, \beta]\right\}
$$

where the constants $\mu, M$ are given in Lemmas 3.3 and 3.4
Lemma 3.6. The set $\mathcal{K}$ is a cone in $\mathcal{L}^{1}(I)$.
Proof. We have to show that $\mathcal{K}$ is a subset of the Banach space $\mathcal{L}^{1}(I)$ and it satisfies the properties:
(a) If $u \in \mathcal{K}$, then $k u \in \mathcal{K}$ for any real number $k \geq 0$.
(b) If $u, v \in \mathcal{K}$, then $u+v \in \mathcal{K}$.
(c) If both $u$ and $-u$ belong to $\mathcal{K}$, then $u=0$.
(d) It is a closed subset of $\mathcal{L}^{1}(I)$.

The first algebraic properties (a), (b), (c) are obvious. So we have to prove that $\mathcal{K}$ is closed. To this end we assume that $\left(u_{n}\right)$ is a sequence in $\mathcal{K}$ converging to some $v \in \mathcal{L}^{1}(I)$ in the $\|\cdot\|_{\mathcal{L}^{1-}}$ norm, namely such that $\lim \left\|u_{n}-v\right\|_{\mathcal{L}^{1}}=0$. We have to show that $v$ is a point in $\mathcal{K}$.

Although, from the classical analysis it is known that $\mathcal{L}^{1}$-convergence implies the existence of a subsequence $\left(u_{n_{k}}\right)$ converging to $v$ pointwise, almost everywhere in
$I$, for completeness of this paper we shall give the proof. And, first we shall remind the reader that this convergence implies convergence in measure. Denote by $m$ the Lebesgue measure.

Get any $\epsilon>0$ and define the set $E_{n}:=\left\{t \in I:\left|u_{n}(t)-v(t)\right| \geq \epsilon\right\}$. Then we have

$$
\left\|u_{n}-v\right\|_{\mathcal{L}^{1}}=\int_{E_{n}}\left|u_{n}(t)-v(t)\right| d t+\int_{I \backslash E_{n}}\left|u_{n}(t)-v(t)\right| d t
$$

and so

$$
\left\|u_{n}-v\right\|_{\mathcal{L}^{1}} \geq \int_{E_{n}}\left|u_{n}(t)-v(t)\right| d t \geq \epsilon m\left(E_{n}\right)
$$

This implies that $m\left(E_{n}\right) \rightarrow 0$, namely $u_{n} \rightarrow v$ in measure.
Next we claim that there is a subsequence $\left(u_{n_{k}}\right)$ converging to $v$ pointwise, a.e. To do that we use the convergence in measure. Thus, for any $k=1,2, \cdots$ there is some $n_{k}$ such that

$$
n \geq n_{k} \Longrightarrow m\left(\left\{t \in I:\left|u_{n_{k}}(t)-v(t)\right|>\frac{1}{k}\right\}\right) \leq \frac{1}{2^{k}} .
$$

Put $Z_{k}:=\left\{t \in I:\left|u_{n_{k}}(t)-v(t)\right|>\frac{1}{k}\right\}$ and $H_{l}:=\cup_{l=k}^{+\infty} Z_{l}$. Then we have

$$
m\left(Z_{k}\right) \leq \frac{1}{2^{k}} \quad \text { and } \quad m\left(H_{l}\right) \leq \sum_{i=l}^{+\infty} m\left(Z_{i}\right) \leq \sum_{i=l}^{+\infty} \frac{1}{2^{k}}=\frac{1}{2^{l-1}}
$$

Set $Z:=\cap_{l=1}^{+\infty} H_{l}$, for which it holds that

$$
m(Z) \leq m\left(H_{l}\right) \leq \frac{1}{2^{l-1}}
$$

Thus $m(Z)=0$.
Now let $t \in I \backslash Z$. Then $t \notin H_{l}$, for some $l$. Hence $t \notin Z_{k}$ for all $k \geq l$. The latter implies that

$$
\left|u_{n_{k}}(t)-v(t)\right| \leq \frac{1}{k}, \quad k \geq l
$$

Therefore $\lim u_{n_{k}}(t)=v(t)$, for all $t \in I \backslash Z$, which proves the claim.
Finally, define the set

$$
S:=Z \cup\left(\cup_{n=1}^{+\infty}\left\{t \in[\alpha, \beta]: u_{n}(t)<\frac{\mu}{M}\left\|u_{n}\right\|_{\mathcal{L}^{1}}\right\}\right)
$$

which has measure 0 . Observe that for any $t \in[\alpha, \beta] \backslash S$ it holds

$$
v(t)=\lim u_{n_{k}}(t) \geq \frac{\mu}{M} \lim \left\|u_{n_{k}}\right\|_{\mathcal{L}^{1}}=\frac{\mu}{M}\|v\|_{\mathcal{L}^{1}}
$$

because $\left|\left\|u_{n_{k}}\right\|_{\mathcal{L}^{1}}-\|v\|_{\mathcal{L}^{1}}\right| \leq\left\|u_{n_{k}}-v\right\|_{\mathcal{L}^{1}} \rightarrow 0$. Therefore we have $v \in \mathcal{K}$ and the proof is complete.

Theorem 3.7. Assume that Conditions 1.3 and 2.13 .1 are satisfied. Then boundary value problem (1.1), (1.3) admits a positive solution.

Proof. By Lemma 2.7, it is sufficient to prove that the operator $T_{\lambda}$ defined by the type (2.11), where $F$ is given in (2.3), admits a fixed point in $\mathcal{K}$.

From Lemma 3.5 we know that the operator $T_{\lambda}$ is completely continuous. Now, let $u \in \mathcal{K}$. Then on one hand we have

$$
\left\|T_{\lambda} u\right\|_{\text {sup }}=\sup _{t \in I} \int_{0}^{1} G_{\lambda}(t, s) F(s, u) d s \leq M \int_{0}^{1} G_{\lambda}(s, s) F(s, u) d s
$$

and on the other hand

$$
\left(T_{\lambda} u\right)(t) \geq \mu \int_{0}^{1} G_{\lambda}(s, s) F(s, u) d s
$$

for any $t \in[\alpha, \beta]$. Thus it holds

$$
\begin{equation*}
\left(T_{\lambda} u\right)(t) \geq \frac{\mu}{M}\left\|T_{\lambda} u\right\|_{\sup } \geq \frac{\mu}{M}\left\|T_{\lambda} u\right\|_{\mathcal{L}^{1}}, \quad t \in[\alpha, \beta] \tag{3.7}
\end{equation*}
$$

Also, for any $u \in \mathcal{K}$ we have

$$
\begin{align*}
\left\|T_{\lambda} u\right\|_{\mathcal{L}^{1}} & =\int_{0}^{1} \int_{0}^{1} G_{\lambda}(t, s) F(s, u) d s d t \\
& =\int_{0}^{1}\left(\int_{0}^{1} G_{\lambda}(t, s) d t\right) F(s, u) d s  \tag{3.8}\\
& \leq \sup _{s \in I}\left(\int_{0}^{1} G_{\lambda}(t, s) d t\right) \int_{0}^{1} F(s, u) d s \\
& \leq \frac{\sigma}{\lambda^{2}}\left(\lambda^{2}+\sup _{s \in I} p(s, u)\right)\|u\|_{\mathcal{L}^{1}}<+\infty
\end{align*}
$$

Inequalities (3.7) and (3.8) together with the fact that $\left(T_{\lambda} u\right)(t) \geq 0$, for all $u \in \mathcal{K}$, imply that the operator $T_{\lambda}$ maps the cone $\mathcal{K}$ into itself.

Next, because of Hypothesis 3.1. we can choose $\rho>0$ with $\rho<\frac{1-\sigma}{\sigma} \lambda^{2}$. From the $\left[\|\cdot\|_{\mathcal{L}^{1}}-|\cdot|\right]$-continuity of $p(t, \cdot)$ at 0 , uniformly in $t$, (Hypothesis 2.3), it follows that, to this $\rho$ there corresponds a certain $R_{1}>0$ such that, for any $u \in \mathcal{K}$, with $\|u\|_{\mathcal{L}^{1}} \leq R_{1}$ and $t \in I$, it holds $0 \leq p(t, u) \leq \rho$.

Take any $u \in \mathcal{K}$, such that $\|u\|_{\mathcal{L}^{1}}=R_{1}$. Then from (3.8) we get

$$
\left\|T_{\lambda} u\right\|_{\mathcal{L}^{1}} \leq \sup _{s \in I}\left(\int_{0}^{1} G_{\lambda}(t, s) d t\right)\left(\lambda^{2}+\rho\right)\|u\|_{\mathcal{L}^{1}} \leq\|u\|_{\mathcal{L}^{1}} .
$$

The latter holds because of the choice of $\rho$.
By using the sup norm on the space $C(I)$ such an inequality is not satisfied for any $\lambda>0$. Indeed, one can prove that for any positive $u \in C(I)$ the function $A(\lambda):=\frac{\left\|T_{\lambda} u\right\|_{\text {sup }}}{\|u\|_{\text {sup }}}, \lambda>0$, satisfies $\lim _{\lambda \rightarrow 0} A(\lambda)=1$ and, furthermore, $\lambda \rightarrow A(\lambda)$ is increasing. Therefore there does not exist any $\lambda>0$ satisfying $A(\lambda) \leq 1$. Notice that because of the continuous dependence of the problem on parameters, for $\lambda=0$ the integral form of the problem becomes a trivial identity. However, this is the point which motivated us to use the idea of working on $\mathcal{L}^{1}(I)$ instead of $C(I)$. This idea relies on the obvious fact that there are continuous functions having $\|\cdot\|_{\text {sup }^{-}}$ value greater than 1 , and $\|\cdot\|_{\mathcal{L}^{1}}$ value less than 1.

Next fix any real number $R>0$ such that

$$
\mu^{2}(\beta-\alpha)\left(\lambda^{2}+R\right) \int_{\tau_{2}}^{\tau_{3}} G_{\lambda}(s, s) d s \geq M
$$

From Hypothesis 2.5, there exists $N>0$ such that $p(t, u) \geq R$, for all $u$ in $\mathcal{K}$ with $u(s) \geq N, s \in\left[\tau_{2}, \tau_{3}\right]$ and $t \in[\alpha, \beta]$. Clearly, we can assume that $R_{2}:=\frac{M}{\mu} N>R_{1}$.

Now, fix a point $u \in \mathcal{K}$ such that $\|u\|_{\mathcal{L}^{1}}=R_{2}$. Then, for all $s \in\left[\tau_{2}, \tau_{3}\right]$, it holds

$$
u(s) \geq \frac{\mu}{M}\|u\|_{\mathcal{L}^{1}}=N
$$

and therefore

$$
\begin{aligned}
\left\|T_{\lambda} u\right\|_{\mathcal{L}^{1}} & =\int_{0}^{1} \int_{0}^{1} G_{\lambda}(t, s) F(s, u) d s d t=\int_{0}^{1}\left(\int_{0}^{1} G_{\lambda}(t, s) d t\right) F(s, u) d s \\
& \geq \int_{\tau_{2}}^{\tau_{3}}\left(\int_{\alpha}^{\beta} G_{\lambda}(t, s) d t\right) F(s, u) d s
\end{aligned}
$$

and therefore

$$
\begin{aligned}
\left\|T_{\lambda} u\right\|_{\mathcal{L}^{1}} & \geq \mu \int_{\tau_{2}}^{\tau_{3}}\left(\int_{\alpha}^{\beta} G_{\lambda}(s, s) d t\right)\left(\lambda^{2}+R\right) u(s) d s \\
& \geq \frac{\mu^{2}}{M}(\beta-\alpha) \int_{\tau_{2}}^{\tau_{3}} G_{\lambda}(s, s) d s\left(\lambda^{2}+R\right)\|u\|_{\mathcal{L}^{1}} \geq\|u\|_{\mathcal{L}^{1}}
\end{aligned}
$$

The previous arguments show that Theorem 1.1 applies, and so we conclude that a fixed point of $T_{\lambda}$ exists in $\mathcal{K} \cap\left(\overline{\Omega_{2}} \backslash \Omega_{1}\right)$, where $\Omega_{1}, \Omega_{2}$ are the balls in $C(I)$ with center the origin and radius $R_{1}$ and $R_{2}$, respectively. The proof of the theorem is complete.

## 4. An application

Consider the integro-differential equation

$$
\begin{equation*}
u^{\prime \prime}+(1+t) u(t) \int_{0}^{t} u(s) d s=0, \quad t \in I \tag{4.1}
\end{equation*}
$$

with $u(0)=0$. Associate this equation with the nonlocal condition 1.2 , where the function $g$ is defined in Example 2.2. From the fact that $0=g(0<g(1)=1$, the problem is at resonance. Taking into account Example 2.6 we can see that the conditions of Theorem 3.7 are satisfying, with $\alpha, \beta$ defined as in 2.2 . Thus there exists a solution $u$ of equation (4.1) satisfying condition 1.2 and $u(t) \geq u(0)=0$, $t \in I$ and being such that $\|u\|_{\mathcal{L}^{1}}>0$.

## References

[1] R. P. Agarwal, D. O'Regan; Some new existence results for differential and integral equations, Nonlinear Anal., Theory Methods Appl., 29 (1997), 679-692.
[2] R. P. Agarwal, D. O'Regan, P. J. Y. Wong; Positive Solutions of Differential, Difference and Integral Equations, Kluwer Academic Publishers, Boston, 1999.
[3] Ravi P. Agarwal, Victoria Otero-Espinar, Kanishka Perera, Dolores R. Vivero; Existence of multiple positive solutions for second order nonlinear dynamic BVPs by variational methods, J. Math. Anal. Appl., 331 (2007), 1263-1274.
[4] Ya. I. Alber; Continuous regularization of linear operator equations in a Hilbert space, Radiophysics Research Institute at Gorky State University, Transl. from Mat. Zametki, 4 (1968), 793-797.
[5] Ya. I. Alber, I. Ryazantseva; On regularized evolution equations with operators of monotone type, Funct. Differ. Equ., 7 (3-4) (2000), 177-187.
[6] R. I. Avery at al.; Twin solutions of boundary value problems for ordinary differential equations and finite difference equations, Comput. Math. Appl., 42 (2001), 695-704.
[7] A. V. Bitsadze, A. A. Samarski; Some elementary generalizations of linear elliptic boundary value problems, Dokl. Akad. Nauk SSSR, 185 (1969), 739-740. (in Russian).
[8] Haim Brezis; Functional Analysis Sobolev Spaces and Partialk Differential Equation, Springer, New York, Dordrecht, Heidelberg, London (ISBN 978-0-387-70913-0), 2011.
[9] Mohd Haheem, M. Rama Mohana Rao; A Boundary Value Problem for Functional Differential Equations of Delay Type, J. Math. Anal. Appl., 109 (1985), 258-278.
[10] R. Hakl, A. Lomtatidze, B. Puza; On a boundary value problem for first-order scalar functional differential equations, Nonlinear Anal., 53 (2003), 391-405.
[11] C. Gupta; A second order m-point boundary value problem at resonance, Nonlinear Anal., 4 (1995), 1483-1489.
[12] C. Gupta; A sharper condition for the solvability of a three-point second order boundary value problem, J. Math. Anal. Appl., 205 (1997), 586-579.
[13] C. P. Gupta; Solvability of a three-point nonlinear boundary value problem for a second order ordinary differential equation, J. Math. Anal. Appl., 168 (1992), 540-551.
[14] Haraid Hanche-Olsenm Helge Holden; The Kolmogorov-Riesz compactness theorem, Expo. Math., 28 (2010) 385-394.
[15] J. Henderson; Double solutions of three-point boundary-value problems for second-order differential equations, Electron. J. Differential Equations, 115 (2004), 1-7.
[16] Tae-Hwa Kim, Hong-Kun Xu; Strong convergence of modified Mann iterations for asymptotically nonexpansive mappings and semigroups, Nonl. Anal., 64 (2006), 1140-1152.
[17] X. He, W. Ge; Triple solutions for second-order three-point boundary value problems, J. Math. Anal. Appl., 268 (2002), 256-265.
[18] V. A. Il'in, E. I. Moiseev; Nonlocal boundary value problem of the second kind for a SturmLiuville operator, Differential Equations, 23 (1987), 979-987.
[19] G. L. Karakostas; Positive solutions of a boundary-value problem for a differential equation with damping and actively bounded delayed forcing term, Electron. J. of Differential Equations, Vol. 2006(2006), No. 73, 1-12.
[20] G. L. Karakostas; Strong approximation of the solutions of a system of operator equations in Hilbert spaces, J. Difference Equ. Appl., 12(6) (2006), 619-632.
[21] G.L. Karakostas, K. G. Mavridis, P.Ch. Tsamatos; Multiple positive solutions for a functional second-order boundary value problem, J. Math. Anal. Appl. 282 (2003) 567-577.
[22] G. L. Karakostas, K. G. Mavridis, P.Ch. Tsamatos; Triple Solutions fora Nonlocal Functional BoundaryValue Problem by Leggett - Williams Theorem, Applicable Analysis 83 (2004), 958970.
[23] G. L. Karakostas, S. K. Ntouyas; Boundary value problems and differentiability for neutral functional differential equations, rev. Roumaine Math. Pures Appl., 31 (1986), 605-624.
[24] G. L. Karakostas, K. G. Palaska; Regularization for evolution equations in Hilbert spaces involving monotone operators via the semi-flows method, Electron. J. of Differential Equations, Vol. 2007(2007), No. 145, 1-18.
[25] G. L. Karakostas, K. G. Palaska; Variational solutions of boundary value problems for monotone discrete inclusions in Hilbert spaces, Commun. Appl. Anal., 15 (2011), no. 2, 3 and 4, 483-510.
[26] G. L. Karakostas, P. Ch. Tsamatos; On a Nonlocal Boundary Value Problem at Resonance, J. Math. Anal. Appl., 259 (2001), 209-218.
[27] G. L. Karakostas, P. Ch. Tsamatos; Positive solutions for a nonlocal boundary value problem with increasing response, Electron. J. Differential Equations, 2000, No. 73 2000, 1-8.
[28] G. L. Karakostas, P. Ch. Tsamatos; Multiple positive solutions for a nonlocal boundary value problem with quiet at zero response, Electron. J. Differential Equations 2001, No.13, 2001, 1-11.
[29] G. L. Karakostas, P. Ch. Tsamatos; Existence results for some n-dimensional nonlocal boundary value problems, J. Math. Anal. Appl., 259, 2001, 429-438.
[30] G. L. Karaklostas, P. Ch. Tsamatos; Functions uniformly quiet at zero and existence results for one-parameter boundary value problems Ann. Polon. Math., LXXVIII.3, (2002), 267276.
[31] M. A. Krasnoselskii; Positive Solutions of Operator Equations, Noordhoff, Groningen, 1964.
[32] J. Mawhin; Topological degree and boundary value problems for nonlinear differential equations in nonlinear, Lecture Notes Math., 1537 (1991), 803-810.
[33] J. Mawhin; Topological degree methods in nonlinear boundary value problems, NSFCBMS Regional Conference Series in Mathematics, Amer. Math. Soc., Providence, RI, 1979.
[34] I. Rachunkova; Multipoint boundary value problems at resonance, Fasc. Math., 23 (1991), 99-102.
[35] I. Rachunkova, S. Stanek; Topological degree method in functional boundary value problems at resonance, Nonlinear Anal., 27 (1996), 271-285.
[36] D. O'Regan, M. Zima; Leggett-Williams norm-type theorems for coincidences, Arch. Math., 87 (2006), 233-244.
[37] Simeon Reich, Itai Shafrir; An existence theorem for a difference inclusion in general Banach spaces, J. Math. Anal. Appl., 160 (1991), 406-412.
[38] L. P. Shilnikov, A. L. Shilnikov, D. V. Turaev, L. O. Chua; Methods of Qualitative Theory in Nonlinear Dynamics, Part I, World Scientific, Singapore, 1998.
[39] M. M. Vainberg; Variational Method and Method of Monotone Operators in the Theory of Nonlinear Equations, John Wiley Sons, New York, 1973.
[40] Aijun Yang; An extension of Leggett-Williams norm-type theorem for coincidences and its application, Topological Methods in Nonlinear Analysis, Journal of the Juliusz Schauder Center, 37, 2011, 177-191.
[41] Pinghua Yang, Zengji Du, Weigao Ge; Solvability of boundary value problem at resonance for third-order functional differential equations, Proc. Indian Acad. Sci. (Math. Sci.), 118 (2008), 307-318.

George L. Karakostas
Department of Mathematics, University of Ioannina, 45110 Ioannina, Greece
E-mail address: gkarako@uoi.gr
Konstantina G. Palaska
Department of Mathematics, University of Ioannina, 45110 Ioannina, Greece
E-mail address: cpalaska@cc.uoi.gr


[^0]:    2010 Mathematics Subject Classification. 34B10, 34B15.
    Key words and phrases. Nonlocal boundary value problem; boundary value problems at resonance; second order differential equations; Krasnoselskii's fixed point theorem on cones. (C) 2018 Texas State University.

    Submitted July 20, 2017. Published January 19, 2018.

